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public abstract class Sandwich { @‘P su ﬂ'

public String name;
public int price;
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return "One " + this.name + " coming up!";
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public class HotDog extends Sandwich {
public HotDog(){
this.name = "Hot Dog"';
this.price = 20;
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public Sandwich makeSandwich(String type){ . Y- . . o -
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public class RoundPeg {
public int radius;

public RoundPeg(int radius){
this.radius = radius;
}
}

public class RoundHole {
public int radius;

public RoundHole(int radius){
this.radius = radius;
}
public boolean fits(RoundPeg peg){
return this.radius > peg.radius;
}
}

public class SquarePeg {
public int width;

public SquarePeg(int width){
this.width = width;

public class SquarePegAdapter extends RoundPeg {
public SquarePeg peg;

public SquarePegAdapter(SquarePeg peg){
super(peg.width);
this.peg = peg;

}

public int getRadius(){
return (int) (peg.width * Math.sqrt(2) / 2);
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public static void main(String[] args) {
SandwichFactory sandwichFactory = new SandwichFactory();

System.out.println("What kind of sandwich do you want?");
Sandwich sandwich = sandwichFactory.makeSandwich(userInput());
System.out.printin(sandwich.preparing());
System.out.println(sandwich.ready());
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